
Math 098 Worksheet6.5B_GraphingRadicalEquations_v01

NO BOOK/ NO NOTES/YES CALCUATOR

Fall 2017 Dressler

Name___________________________________

Determine the domain and range of the function. Then

graph it.
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5) f(x) = x + 4
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x-10 -8 -6 -4 -2 2 4 6 8 10

y
10

8

6

4

2

-2

-4

-6

-8

-10

x-10 -8 -6 -4 -2 2 4 6 8 10

y
10

8

6

4

2

-2

-4

-6

-8

-10

2 of 7



11) f(x) = 2 x + 2     
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12) f(x) = 2 x - 3     
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13) f(x) = 2 x + 5     
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14) f(x) = 2 x + 3     
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15) f(x) = 2 x - 4     
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16) f(x) = 2 x + 4     
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17) f(x) = - x + 4

x-10 -8 -6 -4 -2 2 4 6 8 10

y
10

8

6

4

2

-2

-4

-6

-8

-10

x-10 -8 -6 -4 -2 2 4 6 8 10

y
10

8

6

4

2

-2

-4

-6

-8

-10

18) f(x) = - x + 1
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19) f(x) = - x - 3
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20) f(x) = - x + 3
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21) f(x) = x - 4
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22) f(x) = x + 2
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Graph the function.

23) g(x) = x - 2
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Graph the equation.

26) y = x + 5

x-10 -5 5 10

y

10

5

-5

-10

x-10 -5 5 10

y

10

5

-5

-10

27) y = x + 6

x-10 -5 5 10

y

10

5

-5

-10

x-10 -5 5 10

y

10

5

-5

-10

5 of 7



Graph the function.

28) g(x) = - x + 2 - 2
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32) h(x) =  -x + 2 - 1
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Answer Key
Testname: WORKSHEET6.5B_GRAPHINGRADICALEQUATIONS_V01

1) domain = [4, ∞), range = [0, ∞)
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Answer Key
Testname: WORKSHEET6.5B_GRAPHINGRADICALEQUATIONS_V01

5) domain = [0, ∞), range = [4, ∞)
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Answer Key
Testname: WORKSHEET6.5B_GRAPHINGRADICALEQUATIONS_V01

9) domain = [0, ∞), range = [5, ∞)
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Answer Key
Testname: WORKSHEET6.5B_GRAPHINGRADICALEQUATIONS_V01

13) domain = [-5, ∞), range = [0, ∞)
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Answer Key
Testname: WORKSHEET6.5B_GRAPHINGRADICALEQUATIONS_V01

17) domain = [-4, ∞), range = (-∞, 0]
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Answer Key
Testname: WORKSHEET6.5B_GRAPHINGRADICALEQUATIONS_V01
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Answer Key
Testname: WORKSHEET6.5B_GRAPHINGRADICALEQUATIONS_V01
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Answer Key
Testname: WORKSHEET6.5B_GRAPHINGRADICALEQUATIONS_V01
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Answer Key
Testname: WORKSHEET6.5B_GRAPHINGRADICALEQUATIONS_V01
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Answer Key
Testname: WORKSHEET6.5B_GRAPHINGRADICALEQUATIONS_V01
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